chain_disc_notes.gwb - 1/8 - Mon Dec 19 2016 12:38:07 chain_disc_notes.gwb - 2/8 - Mon Dec 19 2016 12:39:53

A chain discount is Net-price rate
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m%w:wwnoga are 2 series of discounts. SED is known s a single equivalent Chain discounts are a series of discounts. SED is known as a single equivalent
Net Price Rate = Product of Complements of Chain Discount Rates discount.

. . Net Price Rate = Product of Complements of Chain Discount Rates
Net Price = Net Price Rate x List Price

SED = Complement of Net Price Rate Net Price = Net Price Rate x List Price

Discount = SED x List Price
SED = Complement of Net Price Rate

‘Which example in the table has an incorrect second net price based on the given
chain discount and cakulating one colmmn at a time?

Discount = SED x List Price

Example |List Price | Cham Discount First First Net [ Second Second
Discount Price Discountt | Net Price ) X 3 i A
T [s3.80856 $837.88 | §2,070.68 | $118.83 | 5285183 Using the net price rate, how much would 18 oak tables with a list price of
2 5,363.65 150182 | 386183 270.33 359460 . -
3 1508 T Lo | 522 | 10man $568.25 each cost a buyer who has a trade discount of 24% and an additional
1 | et $26014 | 376330 | 22581 | 355769 discount of 2%? Express your answer as a dollar amount to the nearest cent.
a. Example 1 c. Example2

o

b Example4 Example 3
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Chain discounts are a series of discounts. SED is known as a single equivalent Chain discounts are a series of discounts. SED is known as a single equivalent
discount. discount.
Net Price Rate = Product of Complements of Chain Discount Rates Net Price Rate = Product of Complements of Chain Discount Rates
Net Price = Net Price Rate x List Price Net Price = Net Price Rate x List Price
SED = Complement of Net Price Rate SED = Complement of Net Price Rate
Discount = SED x List Price Discount = SED x List Price

A buyer is purchasing 16 brass beds with a list price of $680.94 each and 13
sofas with a list price of $586.78 each. Using the net price rate, what is the cost
for a buyer who has a trade discount of 23% and an additional discount of 4%?
Express your answer as a dollar amount to the nearest cent.

Using the net price rate, how much would 2 oak tables with a list price of
$443.62 each cost a buyer who has a trade discount of 21% and an additional
discount of 6%7 Express your answer as a dollar amount to the nearest cent.
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Chain discounts are a series of discounts. SED is known as a single equivalent m%w:wwnoga area series of discounts. SED is known as 2 single equivalent

discount. Net Price Rate = Product of Complements of Chain Discount Rates
Net Price Rate = Product of Complements of Chain Discount Rates
Net Price = Net Price Rate x List Price
Net Price = Net Price Rate x List Price SED = Complement of Net Price Rate
SED = Complement of Net Price Rate Discount = SED x List Price
‘Which example in the table has an incorrect second net price based on the given
Discount = SED x List Price chain discount and cakulating one colmmn at a time?

Example |List Price | Cham Discount First First Net [ Second Second
Discourt Price Discourtt | Net Price
less 4% $936.97 [$4339.51 [ $174.38 | $4,183.13

A buyer is purchasing 13 sofas with a list price of $651.67 each and 10 recliners

$3,31648

1
with a list price of $690.10 each. Using the net price rate, what is the cost for a 2 216362 less8% | 43272 | 173080 | 13847 | 159243
. B o0, e B 0.0 3 3.942.00 20% less 8% 788.40 3,133.60 25228 | 290131
buyer who has a trade discount of 24% and an additional discount of 3%? —Ten e T s T s T oo
Express your answer as a dollar amount to the nearest cent.
a. Example3 c. Example4
b Example 1 d. Example2






